ASBNFOOANEE bigBOO6-(1)

|

2

5

10—5=
3+1=
7+5=
49+7=

10 [4+4=
1] X 5=
2 6+8=

HOBRRETN—IDBERESL—ZVT



ASBNFOOANEE bigBO06-(2)

|

2

5

18—9=
4+5=
3X6=
4+6=

0 6X5
i 1+5

12148 -+

MOBRRETN—IDBERESL—ZVT



ASBNFOOANEE  bigBO06-(3)

|

2

5

12+4=
6—2=
X 7=
12+2=
4+3=

F B

9—2=

MOBRREDN—IDBERESL—ZVT



AREBXFOORNES 2)|=»| 118—9=9 [7] 74+4= 11
bigBOO6 2] 44+5= 9 8] 71T—6= 1
[ R ] 3 3X6=18 9 44+2=6

= 4 4+6=10 [0 6X5= 30
o 563+9=7 [ 1+5=6
1 I B 1XT=17 1248+6=8
110—5= 95 [710+5=2 | [112+4=3 1[71]1 4X2=8
2 3+1=4 (8 9+9=1 |2 6—2=4 [5] 5—4=1
3] 7+5=12 [9] 5—2=3 | 3] 8X7= 56 936+9=4
149+7=7 [0 7T4+4=11| 112+2=6 [028+4=7T
5/ 1X3=3 [ §X5= 25| 5/ 443=7 [110—5= 9

636+-9=4 [ 6+8=14| 6 9—2=7 12 8+5=13

2 ? 1& ? ﬁ&'@ﬁ%@—ié%i&f%u—:yﬁ https://magald.com




